[F#]
[#BHEEFEH] )

(R4 ]

[$2H %]

[%& iz #] (3)
[EFRXEARIERER] (3)
[(BEEFRER] @

[#EHA]
[RHEEFRCEFREEEORE (&

T4
TO6GCT 947307

B R
MR R
[ 18322 )
RILA 7,

EEHEE N1 3

EE2T7T4RD 25 HF11E
BEH MERE

FR18% 3H16H
FRk18% 3A22H
)] 14

[{RHERE] (B) F D,
B1 [EiTratticBET5%E] (6)
TEAT LR D& T T Kb F—TRASH
fp=— R 4723
35 - JEFHO R +5%
B AEE IR L0
ATEFEH WHREEXAEAAR6—10—1
B2 [#BEECHETHIEER]
1 [#FE (REREE) /1] (1)
(1) [REFOBWE] 8)
O [#EF (KEREEHE)]
BA-EADH EA
Bdh XA ERE&H T A7k

FRTIAIERIE# | REHEEKAE£2-1—-38

IH 4 i34

IB{EAT X3 A FEFTE 1




@ [EADEHEE]

AR H

L ES

B H e

5 SR

@ [BEADBE]

AIMEHH FRL7THETH21H
REERAL g &

REE R Bttt &

EENE REa YT 427

@ [FH LomEE]

FB LOBERERUELEA

FEH B

BREE T

03—5419—-7010

(2) [FFEN] 9

MR




(3) [ LRREBFOEREAEREZEDOHNER] (10)

O [REHRFZEOH]

1 27 D 23

B 2T &0 23

I ITHAL BIEH1E

HEE 27 &0 23
FIHEFE2 5

" W

115, 805

BERS I ZHEREE I

PR TAOMEREE W

PR THIME (TS 8

*REFMEEFFIA -V 7T

D|lalwm| =

==

BRI IRREAE SR

PR 2 BB TRGLAE S

Xt G ATl AIk 5 (B2 A

| =

& &

gl= || m

115, B0 N

EHmIC L v RELEZ &
(& DR DREE DK

REHHEZEOE BE
(M+N+0-P)

115, 805

RAEBTEHERNOE
(A+B+CHD+E+F+G+H+I+]+K+L)

@ [HFERFEE]

RITHERARE ®

(Fr1 843 H 1 0 RETE)

2,223,764. 13

LFRBEHBOKRSFZETEES (%) 5. 21%

(Q/ (R+S) X 100)

EROREEIICEH IN-RES 9. 41%

REEIS (%)

(4) USSR EEORITEORITT 2SS OMT 580 60 ABORETASORE] (1)

£ H H |[% %% o @ E ¥ B e S AR UATAL BE A
18.1.27 BR# 1, 000 ¢ -
18.3.1 B 114, 602 BfF B4 H
18.3.10 LS 300 A5y -
18.3.13 Rk 300 A5y -
18.3. 14 L3 1, 800 sy -
18.3.15 PR 53, 698 55y -




(6) [HEHEFEOT HHEMAVFHEERZN] (12)

BEHFEEETGIICEATHAELRRHEICEE, ¥R I1ITE 11 A 29 AffCER = —F 4
TGRSR (BR) 1ZxtL. 10,000 #k& & (HAH 200645 H 29 H),
BHEEEEDGIIETAEARRNTICEE, ERI18E 1 H 20 B TCHABa—FT 47
NVEEFE (BR) (XL, 10,000 #R42EH (1R 200647 A 20 B),

6) [REKFEFEOTGES] (13)
O [BFEEONR]

Ho&&e&%E () (FM) 13, 665

EAEER ) (FM)

ZOMEREH V) (FA)

k) OHER PR 1843 A 1 BB E (12 3) 2L 77,203 8%
g,
REEE&as (TH) 13, 665
(T+U+V)

@ [HEA&E&DOPR]

HE | A CGIIER) | 28 | REERA T 7 M HAHK Xl

1 |EL

2

10




@ [EAZDRIE]

&

=

=2

At (E4)

REEH KA




